Point-Slope Form:
_ y-3=2(x+4) pint. the point used to write thi
y-3=2(x+4) (5{ Y) Point-Slope Form eqeuzt‘i’g”n — ?_z’vg)e =
!
Slope of this line = 1 ) Could be written as:  y=2(x+4) + 3
Now this looks a lot like the

equation of an Absolute Value

The vertex is (-4,3)
just like the line above passes through (-4,3)

This line passes through the point (=Y, %)

Absolute Value Equations:
- eceds venex (o )
Vertex: ( - : {<>
Slope of the sides: - a
T This could be written as:

V-shape Opens: y+9=2x+4|

Downif @ 9"



y=-2(x-1)2?+5

What will this graph look like?
PAboleC 6 s deown
What will the vertexbe? .\,
(&~ Sup (1,5)
What numbers would you use

in a table to find the rest of the
graph? 2
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3. If the ratio of )T is constant the function is called Direct Variation.

a) Which of these equations is Direct Variation?

Ac' é/:/JZ/%K

b) What is the characteristic of the graph of a Direct Variation?
Ling Passes -an(ﬁ],)
OV‘(% ;i/\

c) All Direct Variation Functions have a Variation Constant.
What is the Variation Constant of the Direct Variation Function

you identified in part a)? 14 / S/

d) How is the Variation Constant related to the graph?
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